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2N A=
MM F=H H L
Sl AU F B (FHARSHEIN) (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A= 436,760 488,936 NB2,176
= 50,000
Al 386,760
F=)1 & 436,760 488,936 AB2,176
= 50,000
Al 386,760
QUHFEH AL (THAILELE S| H) 436,760 488,936 AB2,176
= 50,000
Al 386,760
AGOIE S Xl &2l 206,909 205,009 1,900
201 et 61,480 59,580 1,900
01 AP 2t 2] H| 12,980 11,580 1,400
OBt 2Y| 11,700
oANgEIRAUFE S22 1,000,000 1,000
o ¥iE XA ROl 700,000& 700
o U HEN RO 700,000 700
o NibIY=X 2REZD
60,000 *2504 &~ 1,500
o NS RAUFY Agor@Epe 242
150,000 x12& 1,800
ONZATYUFEY ANLS AFBE £42
6,000,000& 6,000
[ PE=2=d] 1,280
ONFYRAUFE 2ol PRT
1,280,000 1,280
02 3244l 48,500 48,000 500
OZ2ZQ2Y A A 3,500
ONYYTUNES S ST - A
3,500,000& 3,500
OAlE & HI KX H| 45,000
0 ANgGEIRAUUFE ANEE KA
45,000,000 45,000
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
ONZSIAUFY AlLS B2 =7
3,000,000 3,000
307 QI2t0| & 110,000 110,000 0
05 QIZtREZ 110,000 110,000 0
OANGSIERAN= KE 2 110,000,000 110,000
802 BtEtZ2 DI Ef 32,429 32,429 0
03 JIEIEtE 2 S 32,429 32,429 0
ONYIRUUFTY 252 S UaH(4IIES)
32,429,000 32,429




A=
=1 & e
Y2 (AL SELESA)
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CSZE2Z2AUFTS AIZINE(EX) 100,000 0 100,000
= 50,000
Al 50,000
401 AIEHIZL 201 Y| 100,000 0 100,000
= 50,000
Al 50,000
01 Al&H| 99,100 0 99, 100
OLEZ2Z22UF AIEIA
100,000,000 *99. 1% 99,100
= 49,550
Al 49,550
03 Al&E 201 Y| 900 0 900
OLFZ222UF A&EMRH
100,000,000 *0.9% 900
= 450
Al 450
OlHI Bl (Z=EAIAEE S AH) 129,851 283,927 N 154,076
704 OlE 2 124,984 0 124,984
01 2 124,984 0 124,984
OESMECHEZII|Z2 HE2 124,984,000 124,984
801 oyl dl 4,867 283,927 A 279,060
1 B0l gl gl 4,867 283,927 A 279,060
[ pY:RslNs]l 4,867,000 4,867




